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Homework 6
Johnny Q is about to finish his 15th year of schooling and is deciding if he should return to school for his 16th year or if he should enter the labor force.  He knows that if he enters the labor market with 15 yeas of education he will earn $8,000 per year for the rest of his life.  If he enters with 16 years of education, he will earn $18,000 for the rest of his life.  The direct cost of the 16th year of schooling is $6,000. 

a.)
If the discount rate is 5% (0.05), and Johnny Q expects to retire after 3 years (he will work 3 years beyond entering the labor market), is it optimal for him to go to school for one more year?  Show your work and explain.

The return from another year of education is ($10,000)/1.05 + ($10,000)/(1.05)2 + ($10,000)/(1.05)3 =

9,523.81 + 9,070.29 + 8,638.38 = $27,232.48.  The costs are $8,000 + $6,000 = $14,000.  So, YES.

b.)
Suppose that Johnny Q is very impatient and has a discount rate of 30% (0.30).  How does this change your answer?  Show your work and explain.

It changes the return to ($10,000)/1.3 + ($10,000)/(1.3)2 + ($10,000)/(1. 3)3 = 7,692.31 + 5,917.16 + 4,551.66 = $18,161.13.  This is still larger than the costs.  So, YES.

c.)
Will your answer to (b) change if Johnny plans to work 4 years instead of 3?  Show your work and explain your answer.


This adds more returns, without any extra costs, so he will want to attend schools still.  It simply adds $10,000/(1.3)4 = $3,501.28 to the returns.

d.)
Continuing with T = 4 and r = 0.3, suppose that Johnny Q knows with a probability = 1 that he will be laid off in his third year of employment.  That is, no matter how much schooling he has, his earnings in year 3 will be zero.  How does that change your answer?  Show your work and explain.

The return is now ($10,000)/1.3 + ($10,000)/(1.3)2 + 0 + ($10,000)/(1.3)4 = 7,692.31 + 5,917.16 + 0 + 3,501.28 = $17,110.75.

e.)
If minority workers have a higher probability of unemployment than whites, what does your answer in part (d) suggest about the optimal educational choices compared to whites?  Explain.
The return on education is lower for workers who will likely be unemployed.  Thus, minorities may choose less schooling than whites.

